4 U

g C mylrky=0, y(©)=l, y'0)=-8
- | m= Ffq=288/32 = Tslugs
ng’gglb,\!/}/ L= Farca/éisplr:waamecﬁ = 2%/V2:57é[b/%9f‘
7y v STy 0L yIredy =0
2+ =0 = r =128, oo
y(£) = C, coar (3¢ +C, 007 (3E)

&@ oy (E)? Cos(TEY—-S,/n(gE)
L

R coo(wt -8) = K2od 2o0 (WEY+ Ruin (8§ )oin ()

K cea(§) = [, Rawe (§)="-1.
SR =43} Hm @)=, ol & 4o sose tcomil ol

2704, 0o |S = 274\

@ \' 7(t):f(zm(8t"sw/m




F E sz s o pﬂﬁ,@@
' zb/[: 20;5, /;&Z%Mz(}{/&/ y

) 350-0/, .,

Lt

@ Z 04, X" y'= Z pn)a, X"
L
= 27 nX'y oy = - n=z n
}/(X) f‘oq 7 h=y imh—)(nﬂ)ahux
= hzo
© 1
"= Z nerya, W
Q, N = 2
X )/ Z n ;

| = ' ta,+a,x
“axCyiey =24 réa_x IS

"~
nist-Da, +aAp (X
+ ioogmz)(nri)anm*’(n N, ]
n=2
/r‘ﬁ% W’J_}I

qofl(?z::g "ﬁ@

= a7
011‘643:0 - \qg“ 6 )
._.qn"-(n ‘-J)qn,_l nz 2\
a =
r,”z (h+2) (nyt) ‘

) -
@ ao':.f/ crl:O/qz, &/43

= =9 — 4 - ‘
aq i 2[2. por o




PPt

' . B350-01 377 Zpr0004>

Yﬂ‘{‘g ) F&/Z/DZO}B/ F&/
v ”

> 52y y' 4y 223(c-5) o

- AN ,}/([?) :O/)/f /ﬂ%@
Se¢5S . ,.;26“5—5 o

5+9)‘Y:Q€J§5 |

Y(s\: _._Z‘___-——-—"-
- S*+5s+4 e
AN .
=7/ ’ = :
1 R ? A ‘
. > -5.)5:_,’ ! >2“A(5.H) )
LY I 8:2'/5 +B(5+¢)
sy - 2/3
Sty 452
Y




